Total number of printed pages—7
3 (Sem-2/CBCS) PHI HC 1
2025

PHILOSOPHY
(Honours Core)

Paper : PHI-HC-2016
( Greek Philosophy)
Full Marks : 80
Time : Three hours.

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x10=10

weTe fAPTIRE Ao SrRI Tes f :

(a) Who is the writer of the book,
Republic?

Republic Tetodag ferds ie2
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(b)

()

@)

(e)

(9)

(h)

What is the primary staff of the world
according to Pythagoras ?

AT IO Tl o7 52

Name one hylicists philosopher.

ey Eredint e I ferat)

Who is the father of Greek philosophy ?

N T T @I e

“The earth is a flat disc floating on
water.” Who made this statement ?

“The earth is a flat disc floating on

water.” — 42 B&O! FIF?

Who is the last Ionic philosopher ?
SR MR (17 TP s (P
Who said that ‘All is one’?

‘All is one’ (I (PIReT?

Who is known as ‘obscured
philosopher’?

‘Obscured philosopher’ 3feT % (PRI 272
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(i) According to the atomist, what is the
primary staff of which the universe is
made ?

SRARATFT ICO ToreT ST AGIH! o2

(i) According to Socrates, knowledge is
identical with concept/virtue/sense
perception.

BUEFILRY 0O T Ao/ mad /3wy siverss
T9C Giw |

2. Answer the following questions in brief:

2x5=10

OETq TR by e il ¢

(a) The water can assume three forms.
What are these three form ?

AN S0 Fot 4199t FIR AT | 93 fOfor <ot
= /e

(b) Write two teaching of Heraclitus.

(Ao 707 e Ram e 1 |
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()

(@)

(e)

Name two sophist philosopher.
RIS RReS wilee ot

What are the two kinds of virtue
according to Socrates ?

BUeEBE WS 72 el et & e

What is the material cause according
to Aristotle ? Give example.

GRIBES TTe TAME S 5 2 SRz tite
et |

Answer any four of the following:

5x4=20

weTe fRat eRPTIEa Rl bif<brg ©ed a8

(@)

(b)

Explain the four causes of Aristotle.

«RT5ee By =9 4t 11

“The Universe is in a continuous
change and constant flux.” Explain after

Heraclitus.

“Crygreie B3I ARIGTAIeT A e |7 EFoIRT
@3 AR I 4 | |
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(c) Explain the statement, “Man is the
measure of the things.”

“E FRCET I AR 17 @2 SfEH o
Eaifl

(d) Write Plato’s five arguments in favour
of Ideas.

C2ITBIN AINegS =T Aiob! e |

(e) Explain the Socrates’ view of Virtue is
knowledge’.

TR, T | BLEFoRS «3 ool W 1 |

(/ What are the fundamental paradox of
- Zeno?

foie 2dw [eaiy & &2

4. Answer any four of the following questions :

10%4=40
oo At AR [Tl bif<bi9 Tes o

(a) Discuss the concept of primary staff or
substance in early Greek philosophy
with special reference to Thales.
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(b)

(c)

(@)

cﬁ%maﬁwaﬁ%ﬁﬁawgm
SET Gt A TRIF D[N ST <47 |

Write a note on Permendes concept of
Being.

ARGHTET e eo5® 4B (Gt 7|

Explain and examine Pythagorean
number theory.

FRATHEAT TRATSG! PG 541 |

Explain and examine Socrates method.

BUFIDRS ARSTo R SN 2 41 |

“All knowledge is knowledge through
concept.” Explain and examine the

statement.

T WITAR LT A AT SRACO 2| @R
Cfeo! I SIS A 90 |

How does Aristotle distinguish between
potentiality and actuality ?

RTBIBCE TSI TIF IITIOIT TS (G
ML IR ?
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(9)

(h)

Write a note on atomism of
Democritus.

(GHIEOIRY O _T[OGT C2K© 9Bl (G
ferar |

What does Aristotle mean by ‘cause’?
In this connection give an account of
his conception of form and matter.

«fRBGCeT IR e & J@RRe G2 PR
(€T SFIT AT THAMTT QIFENTo! JIT 1|
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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x10=10

weTo flTRe U Tes
(a) Is symbolic logic formal ?

O TG ST (72

() “The difference between classical logic
and symbolic logic is one of degree,
rather than of kind.” Is it true ?
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()

(@)

(e)

(9)

“ P SHICIT F91© 21910 SRS
TS CRIC M s AL A T
Rieq «rfim=1” 9300 Toc ?

There are two/three/four types of
compound propostion.

(T e 72/fSf/51R e |

“Berkeley is an idealist philosopher and
Locke is a realist philosopher,” is an
example of proposition.

(Fill in the blank)

‘T 2T SRR T o7'F 2 AR G305t
__ TR RS | GREEESES)

Can the constant ‘~’ connet two or

more simple propositions ?

O SR ‘~* & 7R N OCOIER TG e

FEAM FRI AT 2

Does a variable possess a definite
meaning ?

551 4l ARG @I S @il wiitg 2

“If it rains the match will be cancelled.”
Symbolise the proposition.

BO3FA 0088 2

()

(i)

0)

“IM 999 ST (orT e [ifes 9 79|”
B! SRSIFAT SNPITS 2P ] |

Is shorter truth table method a
decision procedure ?

53 oyl Sifeiel afe «ft ey 2 =7 2
p>oSqg

p

=g

What is the name of this rule ?

2 T i 52

Which one of the following forms of
material equivalence is correct ?

we§ Material Equivalence S (95! SIS
Q& ?

i) (p=q)=(p-q)Vv[(~ p-~q)|

@) (p=q)=(pvaq)-[(~p ~q)

Answer the following questions in brief:

2x5=10

o] SRS 5 Oeq Al

(a) State two uses of symbol in logic.
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(b)

(c)

(@)

OIS SRS 751 ST Tt 4 |

Define subject-predicate proposition.'

Tr-[R0T PRI 99 A T3 |

Why is indirect truth table method
called ‘the method of Reductio ad
Absurdum’?

A AoJ-Slfe! sifes by TPRalf® A
i’ T T T2

State two differences between rules of
inference and rules of replacement.

SR I S 2fSFHAS TS Niere A 75!
A1y Trerd 0|

(e) Bring out two differences between
logical constant and variable. 7
R &9 T bel Al ARG TS 7pf AL
Tfened |
Answer any four of the following questions :
5x4=20
Ood EEPTR fRE SifehrT Oed
(@) Write a short note on the characteristics

of symbolic logic.

BO3FA 0088 4

(b)

(c)

ORI ORI FRBPTZ TS @6 by
(oIt feral |

State five differences between
traditional logic and symbolic logic.

ATFRITC SRS\ T AT OH RGN
Aere #Aior A<y forall|

Symbolise the following propositions :

T 5PTR AP SO S/ 394

(i) Naina and Nazima are friends.
A S e = 75 |

() If Atul is a boy then he is not a
girl.

M Tget 2T T (Or =T et |
(iiij) Either it is black or white.

T G20 el w2 0|
(iv) The water is not hot.

AN T=T 97|

(v) This is a circle if and only if its is
round.

20! = <1 g it S T 2B =
[AA |
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(d)

(e)

Write a short note on logical constant.

SRR N [RAE @b By (B ot

Explain briefly about shorter truth table
method with example.

TR B STere! Wit ST A 5
IO <41

Mention five rules of replacement.

afSvtoe W@WW1

Answer any four of the following questions :

10x4=40

oo [T Bif<bt erE Teq faa :
(@) Explain the brief history of the

()

(c)

development of symbolic logic.

OIS GRS (P11 53] 2= I 541 |

What is symbol ? Discuss the utility of
using symbols. 2+8=10

O I (T 2 2O IR TATI NS Fol 7
o[ ) e
What is proposition ? Explain the

modern classification of proposition
with example. 2+8=10

BO3FA 0088 6

T 52 TaRIrR W e rfiere
T 0

| (d) What is truth table method ? Explain
} the process of the application of truth
table method with suitable example.

| 2+8=10

AJ-OIferl AR BT @I 2 Soiges Snizgeriz
Fopel SIfeipl A=l ST F=TE Iyt 3=t |

() Construct truth table and determine
the validity or invalidity of the following

arguments : 5+5=10
Topel Oiferel oion TR O IFTRS (Kt At
witgel faefy =
@) pvg

=P

#4q
MW p>oq

qvp

=g

()’ What is formal proof of validity? Discuss
the rules of inference with example.
2+8=10
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IR (FLO] S I (N 2 SIS IEPTR
THIRSETE, SITEb= <l |

(g) Construct formal proof of validity for
the following:

wers il JfeTd (Reel i ST 1o
BRI
% A5 (B cC)

C > (D-E)

~AD(B>D)

(i) (AvB)>(C-D)
e
- ~B
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